
2

2009/01
MS-245.4UE 1/3

20%

100%

29

28

30

35

31

32

2022

21

23

25

24

26

27

15

7

6

1

34

12

3

1314

10

119

5

19

1618
17

8

33

58

60

59

57

61

55

56

38

37

42
41

40
39

47

48 49

45

50

52

53

54

51

46

43

44

36

4

221



0

100%

141

152

161

64

63
62

68

69

70

75

76

73
74

72

71

65

66

67

80

78

83

111

112

113

121

92

114

115

116

120
119

117

118
122

123
124

125

128

127
126

129

130
131

132
133

106
105

104
103

98

99

100

97

96

107

93
94

95

89

9091

102
101

134

135

137
136

151138

140

139

144

145
149

150

148

146

88

87

86

85

84

2009/02
MS-245.4UE 2/3

142
143

147

153

154 155

158
157

156

160159

108

110

109

214
212

215

216

77

217

218
219

220

213

211



189

187

188
184

183

182

191 193 190

210208
209

207

206 205
204

203

202
200

201

194

196

197

198

199

195175

173

174

176

177
178

179
180

181

169

168

162
163

164
165

167
166

170

171

172

0

100%

2009/02
MS-245.4UE 3/3



Model MS245.4UE

Art nr Tek nr Omschrijving Art nr Tek nr Omschrijving                                   1/2
125544-0 1 GAS/ CONTROLEHANDEL EBH253U 346084-7 52 BORGRING EBH253U
266326-2 2 TAP SCHROEF 4X18MM 168526-9 53 BESCHERMKOM EBH253U
125544-0 3 GAS/ CONTROLEHANDEL EBH253U 264025-0 54 MOER M10
638663-8 4 AANSLUITKABEL EBH253U 452260-4 55 BESCHERMKAP "MES" EBH253U    A
451081-1 5 KABELHOUDER EBH253U 451097-6 56 AFDEKKAP TBV KLEM EBH253U
451213-0 6 BUITENKABEL EBH253U 922353-6 57 IMBUSBOUT M6X30
168527-7 7 GASKABEL EBH253U 346073-2 58 BEUGEL TBV BESCHERMKAP EBH253
451083-7 8 ONTSLUITHENDEL EBH253U 266326-2 59 TAP SCHROEF 4X18MM
233541-3 9 TORSIEVEER 7 EBH253U 346074-0 60 DRAADSNIJDER EBH253U
233540-5 10 TORSIEVEER 11 EBH253U 452258-1 61 BESCHERMRAND "DRDKOP" EBH253U
451084-5 11 GASHENDEL EBH253U 922226-3 62 IMBUSBOUT M5X18MM
451085-3 12 HANDGREEPDEKSEL EBH253U      P 922211-6 63 IMBUSBOUT M5X12
451082-9 13 SCHAKELHENDEL EBH253U 424191-7 64 STEELDEMPER 1 EBH253U
232251-9 14 BLADVEER EBH253U 318270-0 65 STEELKLEM 1 EBH253U
125544-0 15 GAS/ CONTROLEHANDEL EBH253U 318271-8 66 STEELKLEM 2 EBH253U
266326-2 16 TAP SCHROEF 4X18MM 424107-2 67 STEELDEMPER 2 EBH253U
451096-8 17 GREEPDEEL R EBH253U 922222-1 68 IMBUSBOUT M5X16              P
451095-0 18 GREEPDEEL L EBH253U 318329-3 69 KOPPELINGSHUIS EBH253U
922256-4 19 INBUSBOUT M5X35MM 450569-8 70 AFSTANDBUS EBH253U
331862-8 20 HANDGREEPBUIS EBH253U 961052-5 71 BORGRING S-12
168524-3 21 STERKNOP 57MM EBH253U 168475-0 72 KOPPELINGSTROMMEL EBH253U
318429-9 22 HANDGREEPBEUGEL EBH253U 210111-5 73 KOGELLAGER 6201DDU
318428-1 23 HANDGREEPHOUDER EBH253U 962151-6 74 BORGRING R-32
233202-5 24 DRUKVEER 20 EBH253U 195144-0 75 MOTORSTEUN CPL EBH253U
318427-3 25 BUISHOUDER EBH253U 911218-7 76 MET.SCHROEF PH M5X14MM CK    A
318426-5 26 BUISBEUGEL EBH253U 265187-7 77 MET.SCHROEF PH2 M5X12MM CK   P
922241-7 27 INBUSBOUT M5X25MM 451261-9 78 CILINDERKAP MS245.UE
195143-2 28 DRAAGOOG EBH253U 451261-9 78 CILINDERKAP MS245.UE
911233-1 29 KRUISKOPSCHROEF 5X20 450568-0 80 BOUGIEKAP EBH253U
422049-4 30 BESCHERMING EBH254.UE 265189-3 83 MET.SCHROEF PH2 M4X16MM CK
422049-4 30 BESCHERMING EBH254.UE 266440-4 84 IMBUSBOUT M5X40MM CK
140041-5 31 STEEL EBH253U 265184-3 85 MET.SCHROEF PH2 M X  MM CK
810519-9 32 WAARSCHUWINGSLABEL EBH254UE 345915-7 86 UITLAATKAP EBH253U
810519-9 32 WAARSCHUWINGSLABEL EBH254UE 168469-5 87 UITLAAT EBH253U
806904-2 33 SERIENUMMERLABEL EBH253U 345916-5 88 UITLAATPAKKING EBH253U
922256-4 34 INBUSBOUT M5X35MM 140023-7 89 KLEPPENDEKSEL EBH253U
324893-4 35 BINNEAS EBH253U 162275-0 90 KLEPPENDEKSELPAKKING EBH253U
922218-2 36 INBUSBOUT M5X14MM 922223-9 91 MET.SCHROEF PH2 M5X16MM CK
125556-3 37 TANDWIELHUISSET EBH253U 168534-0 92 BOUGIE EBH253U
125556-3 38 TANDWIELHUISSET EBH253U 162274-2 93 CARTERDEKSELPAKKING EBH253U
227551-0 39 TANDWIEL 14 EBH253U 318443-5 94 CARTERDEKSEL EBH253U
210049-4 40 KOGELLAGER 609ZZ 266495-9 95 IMBUSBOUT M5X14MM CK
961005-4 41 BORGRING S-9 450565-6 96 OLIEPEILSTOK EBH253U
962113-4 42 BORGRING R-24 BTP140 450565-6 97 OLIEPEILSTOK EBH253U
922241-7 43 INBUSBOUT M5X25MM 162276-8 98 CARTERLPAKKING EBH253U
265590-2 44 INBUSBOUT M8X10MM EBH253U 318442-7 99 CARTER EBH253U
211019-6 45 KOGELLAGER 626 266495-9 100 IMBUSBOUT M5X14MM CK
140039-2 46 AS CPL EBH253U 325666-8 101 OLIEGEWICHT EBH253U
140039-2 47 AS CPL EBH253U 424202-8 102 OLIELEIDING EBH253U
140039-2 48 AS CPL EBH253U 282020-8 103 SLANGKLEM EBH253U
211138-8 49 KOGELLAGER 6001LLU. 266493-3 104 IMBUSBOUT M4X10MM CK
962106-1 50 BORGRING R-28                * 318440-1 105 BORGPLAAT EBH253U
331861-0 51 BESCHERMRING EBH253U 346083-9 106 TOEVOER KLEP EBH253U



Model MS245.4UE

Art nr Tek nr Omschrijving Art nr Tek nr Omschrijving                                   2/2
125550-5 107 CILINDER EBH253U 345919-9 163 MONTAGEPLAAT EBH253U
424201-0 108 CONTROLE KLEP EBH253U 423376-2 164 PAKKINGRING EBH253U
266495-9 109 IMBUSBOUT M5X14MM CK 450560-6 165 CHOKEPLAAT EBH253U
424200-2 110 AFSTANDHOUDER EBH253U 911218-7 166 MET.SCHROEF PH M5X14MM CK    A
125554-7 111 KLEPPEN ARM EBH253U 450561-4 167 LUCHTFILTERKAP EBH253U
325668-4 112 KLEPBORGRING EBH253U 443141-3 168 LUCHTFILTERELEMENT EBH253U
234108-0 113 DRUKVEER 9 443140-5 169 LUCHTFILTERELEMENT EBH253U
256200-2 114 PEN 5MM 2704 345918-1 170 SLANGKLEM EBH253U
325670-7 115 INLAATKLEP EBH253U 422041-0 171 ONTLUCHTINGSPIJP EBH253U
325669-2 116 UITLAATKLEP EBH253U 422042-8 172 ONTLUCHTINGSPIJP EBH253U
125552-1 117 TUIMELAARTANDWIEL EBH253U 125468-0 173 LUCHTFILTERHUIS EBH253U
268238-5 118 PEN 5MM EBH253U 451925-5 174 CHOKEHANDEL EBH253U
313169-4 119 NOKKEN TILLER EBH253U 213540-1 175 O-RING 15 EBH253U
268239-3 120 PEN 4MM EBH253U 424316-3 176 OVERDRUKVENTIEL EBH253U
256865-0 121 KLEPPENPEN 2.5MM EBH253U 213539-6 177 O-RING 14 EBH253U
195145-8 122 ZUIGERVEERSET EBH253U 451924-7 178 OVERDRUKKLEPPLAAT EBH253U
233976-8 123 BORGRING TBV Z-PEN EBH253U 424315-5 179 OVERDRUKKLEP EBH253U
318441-9 124 ZUIGER EBH253U 168577-2 180 SCHEIDINGSPAKKING EBH253U
257781-9 125 ZUIGERPEN EBH253U 168576-4 181 SCHEIDINGSPLAAT EBH253U
213147-3 126 KEERRING 12 EBH253U 413121-3 182 INLAATPAKKING EBH253U
267400-9 127 SLUITRING 23 EBH253U 922228-9 183 INBUSBOUT M5X18MM CK
125551-3 128 KRUKAS EBH253U 450559-1 184 ISOLATOR EBH253U
213148-1 129 KEERRING (OLIE) 10 EBH253U 324961-3 187 LUCHTINLAAT EBH253U
424105-6 130 BOUGIEDOP EBH253U 413120-5 188 ISOLATORPAKKING EBH253U
324891-8 131 BOUGIEVEER EBH253U 213078-6 189 O-RING 10 EBH253U
168501-5 132 ONTSTEKING EBH253U 922213-2 190 INBUSBOUT M5X12MM CK
922138-0 133 IMBUSSCHROEF M4X20MM CK 450562-2 191 KLEM EBH253U
318343-9 134 VLIEGWIEL EBH253U 168497-0 193 CARBURATEUR EBH253U
267812-6 135 SLUITRING 6 EBH253U 140437-0 194 POMPHUIS EBH253U
168498-8 136 KOPPELINGSCHOEN EBH253U 352010-6 195 INLEGZEEF EBH253U
267817-6 137 SLUITRING 8 EBH253U 442154-1 196 MEMBRAAMPAKKING EBH253U
266457-7 138 INBUSBOUT M6X25MM 168574-8 197 MEMBRAAM EBH253U
265577-4 139 INBUSBOUT M6X16MM 140438-8 198 LUCHTZUIVERHUIS EBH253U
231858-8 140 TREKVEER 6 EBH253U 424314-7 199 OPVOERPOMP EBH253U
125472-9 141 BENZINEDOP EBH253U 346270-0 200 POMPDEKSEL EBH253U
125472-9 142 BENZINEDOP EBH253U 266582-4 201 PARKER 3X24MM CK
125472-9 143 BENZINEDOP EBH253U 168575-6 202 POMPMEMBRAAM EBH253U
810455-9 144 WAARSCHUWINGSLABEL "FUEL" 442155-9 203 MEMBRAAMPAKKING EBH253U
424102-2 145 DEMPER EBH253U 325924-2 204 NAALD EBH253U
424103-0 146 DEMPER EBH253U 213538-8 205 O-RING 2
424104-8 147 DEMPER EBH253U 234183-6 206 DRUKVEER 5-9 EBH253U
450566-4 148 BRANDSTOFTANK EBH253U 266581-6 207 MET.SCHROEF PH2 M3X18MM CK
163447-0 149 BRANDSTOFFILTER DCS230T 325922-6 208 ZWENKELEMENT EBH253U
345920-4 150 SLANGKLEM EBH253U 413140-9 209 REVET EBH253U
168472-6 151 BENZINESLANG EBH2153U 257964-1 210 SEEGERING E-3
195147-4 152 STARTINRICHTING EBH253U 806902-6 211 LABEL "MOTOR" EBH253U
168471-8 153 POELIE EBH253U 345964-4 212 TANKSTEUN EBH253U
266585-8 154 PARKER 5X12MM CK 806903-4 213 SERIENUMMERLABEL EBH253U     #
451940-9 155 NOKKENPLAAT EBH253U 911148-2 214 SCHROEF 4X25
233984-9 156 DEMPINGSVEER EBH253U 265187-7 215 MET.SCHROEF PH2 M5X12MM CK   P
451939-4 157 KOORDHASPEL EBH253U 331835-1 216 AFSTANDBUS EBH253U
232258-5 158 STARTERVEER EBH253U 345963-6 217 KLEM EBH253U
424319-7 159 STARTERGREEP EBH253U 638664-6 218 AANSLUITKABEL EBH253U
444020-8 160 STARTKOORD EBH253U 638665-4 219 AANSLUITKABEL EBH253U
808739-7 161 LABEL "MS245.UE" 324980-9 220 VONKENVANGER EBH253U
808739-7 161 LABEL "MS245.UE" 638671-9 221 AANSLUITKABEL EBH253U
265188-5 162 MET.SCHROEF PH2 M X  MM CK


